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AP Chemistry
Chapter Test Bonding

Part I: Multiple Choice (2 points each)

1. 2. 3. 4. 5.
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Part II: Free Response Questions

1 The compounds SF, and CsF react to form an ionic compound according to the

following equation.
SF, + CsF — CsSF;
(1) Draw a complete Lewis structure for the SFs anion in CsSFs.

(i) Identify the type of hybridization exhibited by sulfur in the SFs™ anion.

(i11) Identify the geometry of the SFs anion that is consistent with the Lewis

structure drawn in part (b)(1).

(iv) Identify the oxidation number of sulfur in the compound CsSFs.




2) Xenon can react with oxygen and fluorine to form compounds such as XeO, and XeF,.
Draw the complete Lewis electron-dot diagram for each of the molecules.

3) Predict whether the XeO; molecule is polar or nonpolar. Justify your prediction.

4) In the SO, molecule, both of the bonds between sulfur and oxygen have the same
length. Explain this observation, supporting your explanation by drawing a Lewis
electron-dot diagram (or diagrams) for the SO, molecule.

5) Two Lewis structures can be drawn for the OPF3 molecule, as shown below.
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a) How many sigma bonds and how many pi bonds are in structure 1?

b) Which one of the two structures best represents a molecule of OPF;? Justify your
answer in terms of formal charge.



